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For each question from 1 - 28, four options are given. One of them Is the comrect
answer. Make your choice (1, 2, 3 or 4). Shage the correct oval on the Opiical
{56 marks)

1 mm.mmmmmwmmmam
below. She feeds them with some gnmmhday After a month, she
noticad that the fish bowd Is now too small

This shows that the gupples are iving things becauss they 4
(1) grow

(2) respond

(3) breathe

(4) reproduce

2 The diagram below shows a plant. Which past of the plant absorbs water and
mineral salts for the plant to make food?

(Go on 1o the next page)



Which group of animals does Animal X belong to and what is its special
mamctar_isﬁc? .

Group of animal Characteristic
1 _Birds it has wings.-
r2 Birds it is covered with feathers.
3 Mammals it-has hair.
4 Mammals It has two legs.

(Go on to the next page)
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The diagram below shows the life cycle of a plant.

TN
\/Aduu

Based on the above fife cycle, which one of the following staternents is
definitely true?

(1) Itis a flowering plant.
(2) 1twil grow into a tree.
(3) The fruit can be eaten.
(4) Itcannot make its own food.

Ali had two pieces of bread, A and B, He toasted Bread A for 3 minutes. He

then sprinkled an equal'amount of water onto each slice of bread and placed

:vr:ad A and B, into seéparate plastic bags and left them on the kitchen table for
days.

Bread A (toasted) Bread B (plain)

On the fifthrday, what would Ali observe on the two pieces of bread?

(1) Mould is found growing on Bread A but not Bread B.

(2) More mould is found growing on Bread B than Bread A.

(3) Less moukd Is found growing on Bread B but not Bread A.
(4) The same amount of mould is found on both pieces of bread.

(Go on to the next page)



Study the classification chart below.

Life oycle of animal
33_13?; | 4 stages
Young does not Young looks Young does not
look like aduit like adult look like adult

y

B

Which one of the following represents animal A, B and C?

A c
(1) grasshopper toad cockroach
2 toad cockroach housefly
(3) butterfly cockroach toad
(4) butterfly grasshopper toad

(Go on to the next page)



8 The picture below shows a plcture of a carrot plant.

How Is part Z useful to the plant?

A It stores food for the plant.

8 It provides support by anchoring the plant

C It absorbs water and minerals needed for growth.

D it transport food made by the leaves to all plant paris.
(1) AandBonly

2) B and C only

(3  ABandConly
(4 B, CandDonly

9 Rama set up an experiment as shown in the diagram below. Atthe end ofthe -
he observed that the seeds grew info seedlings in some petri- '
dishes but not in others.

Put in the light Put in the dark
damp cotton A =

Rama was trying to find out if seeds need

(1) [Hight to grow

(2) can grow in cotton wool

(3) water and light fo grow into seedlings

(4) water, light and cotton wool to grow into seediings

{Go on to the next page)
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10 Ali prepared four set-ups as shown below to find out if light is neaded for
germination. '

Setup A

Set-up B

Seed B

* Surrounding temperature :
24°C

o _Watered daily

* Kept near the window

Set-up D

Seed C
* Surrounding temperature :
24°C
» Not watered

¢ Kept near the window

Seed D
» Surrounding temperature :
4°C

o Watered daily
o Kept in the refrigerator

Which two set-ups should Ali use for his experiment?

(1) SetupsAandB
(2) SetupsCandD
(3) SetupsAandD
4) SetupsBandC

{Go on to the next page)
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11 The diagram below-shows a ribcage,

Which of the following statements about the ribcage are true?

A Itgives shape to the body.

B Itis part of the muscular system.

C ltis connected to the backbone,

D 1t protects the brain, heart and lungs.

(1) AandC only
(2) BandDonly -
(3) A, CandDonly
(4) A B,CandD:

(Go on to the next page)
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12 Sally grew some bean seeds and she recorded the changes in the mass of the
seed leaves and the height of the seedlings.

mmmmmwmmm@au
seed Jeaves and the height of the seediing?

Mass of seed leaves (g) Mass of seed leaves (g)
1
b (2) )
Height of seedling (cm) Helght of seadling (cm)
Mass of seed leaves (g) Mass of seed leaves (g)
@ ¢ W 4
Helght of seeding (cm) RSBy o)

(Go on to the next page)
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14

Study the human digestive system as shown below.

10

Which part absorbs water from the undigested food?

()
(2
3
@)

oow>»

The flowchart below shows some body systems, A, B, C and D working

together.

Body systems

¥

Does&helptlwbody

fomove?

Yes

v

é
%
£

around the body? | "_"@

Does It protect some
_important organs?

No

Which one of the following best represents the skeletal system?

(1)
@
3
4

o w>

(Go on to the next.page)
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16  Which object will break easily when it is bent?

16

4 2)

3 )

@
i tollet roll wooden ruler

Four different materials, A, B, C and D, were used to cover each beaker.
200ml of water was then poured onto the material into each beaker. The
amount of water that passed through the material and collected in sach
beaker is shown below.

ial A ial B maternial C material D

- - = =
----- v - - .-

-

Which material is most suitable to be used for making a drinking straw?

(1) Material A
(2) Material B
(3) MaterialC
(4) Material D -

{Go on to the next page)
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18

12

Which one of the following properties is true for both snow and oxygen?

(1) Theycan be seen.

vl Thevmwspm
(3) They can be compressed.
(4) They have definite shapes.

Nurul immersed a plastic boitle into a glass tank filled with water. She gave a
fight squeeze on the empty bottle before releasing it.

-----

Which one of the following would not be observed?

(1) Some water would enter the botle.

(2) -~ The water level in the tank increased.

(3)  Some bubbles wera seen in the water, -
{4) The volume of plastic boftie remained the same.

(Go on to the next page)
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19  Siti had amranged three bar magnets as shown below.

Q
8

~j| a0

WMmdﬂubﬂmﬁuhmﬁpﬁmw

(1) (2)
T
Q R
v
PIT uls R sla >
@) @
R s|T PIT|Q P
ulpP Q Qju

- {Go on to the next page)
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20 Maria performed an experiment with a syringe which Is haif filled with oll. She
covered one end of the syringe and tried to push the plunger down.

push

égm

Which one of the following graphs shows the correct change in the volume of

oil as the plunger was pushed down?
(1) 2.
Voume of ol (cm®) . Volume of oil (cm”®)
anved by Dlslmaarmowd by
plunger (cm) ~ plunger (cm)
(3) _ @)
Volume of oil (cm®) Volume of oil (cm®)
F 3 F 3
Distance moved by Distance moved by
plunger (cm) piunger (cm)

{Go on to the next page)
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21 The ring and ball below are mads of the same material.
bal  ring

At room temperature, the ballis unable fo pass the ring. After heating the ring
HJoEaudile; the ball passed through ring easily.

Wmawﬁalwuldﬂmﬁmpmhlybomml
(1) iron
(2) glass

(3) plastic
(4)  rubber

22  Acup of hot coffée is placed into a basin of cold water.

Which one of the following correctly describes the heat transfer that takes
place? .

Cold water Coffes Cup

(1) | Heatgalnfromcup | Heatlosstocup | Heatgain from hot coffee

2 'Heatgainfromwp Heat gain from cup | Heat gain from hot coffee

(3) | Heatlossto cup Heat loss to cup Heat loss to hot coffes

(4) | Heatlosstocup | Heat gainfromcup | Heat loss to hot cofiee

(Go on to the next page)
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table below shows the amount of water in each beaker and the temperature of

Beaker | Amount of water | Starting temperature | Ending temperature
- (mi) (o _(c)
X 400 28 98
Y 200 26 98
Z 600 26 98
Which one of the graphs below shows the amount of heat energy of the water
in the beakers after six minutes?
) (2)
Heat energy (units) Heat energy (units)
A A
> e
X Y Z e XY Z poaker
) @
Heat energy (units) Heat energy (units)
F 3 F 3

(Go on to the next page)
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24  Raviplaced an ice block and ice.cubes on two dishes, A and B, on a table in
the kitchen. The [ce block and ice cubes were made from an equal amount of
water.

ice block

Dish A

e 8

Dish B

Which dish would Ravi observe the ice to melt completely first and what is the

reason?
Dish ‘Reason

[£)) A The Ice block gains heat faster.

) ice block has a greater exposed surface area o
A - | gain heat from the surrounding.

(3) B lce cubes lost heat slower.

@ Thabemhmamaatarmadmmama
B togﬂnheatftunmeamoundm

Sun
Star
Moon

Lightning

Which one of the following is not a source of light?

(Go on to the next-page)
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Zhi Ling carried out an experiment in a dark room. She lined four 25-cm
square shieets P, Q, R and 8 in front of a torch as shown below. The distance
between the square sheets was equal. The square sheets were made of
-different materials.

torch

The diameters of the circular holes cut in sheets P and Q are 5 cm and 10 em
respectively. When she switched on the torch the shadow that formed on
sheet S is as shown below.

Which one of the following shows the suitable materials used to make the four

square sheets? :
P Q R S
(1) clear glass cardboard | fracing paper aluminium
(2) tracing paper aluminium clear plastic cardboard
(3) cardboard tracing paper aluminium clear plastic
(4) | tracing paper | clear plastic clear glass * aluminium

{Go on to the next page)
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27 Two.or three of these objects, P, Q, and/or R, were placed close to each other
in a straight line mﬁuﬂdh@imasmm

Size of the objects

m_i i_ A P -AI““'

L/ /A S
O cm

“2cem

.RQ

Iightsourca'

>
2cm

.-Basedonﬁieshadmﬁmnedon the screens, which one of the following
statements is comect?

(1) ObjectR is opaque.

(2) Object P is transparent.

(3) Object Q is translucent.

(4) Objects P and Q are opaque.

(Go on to the next page)
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A light sensor attached to a data logger measures the amount of liaht that it is
exposed fo.

torch Ilghiaensor Lto
—1] 1 - o

~ datalogger
“———_direction moved by the torch

Which one of the following graphs shows how the reading of the data logger
.mahmbmmymﬂwmma indicated by the
arrow above?

(1 @
Amount of liht (uits) Amount of light (units)
A

_ Distance of torch from Distance offto_rc_h from
light sensor (cm) light sengor (cm)

® | @
Amount of light (units) Amount of light (units)
A F )

/ \‘\
light sensor (cm) light sensor {cm)-

End of Bookiet A
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2

For questions 28 fo 35, write your answers in the spaces provided. The number of
marks available is shown in the brackets [ ] at the end of each question or part

question.

29  Study the classification chart below.

Animals

salamander

Fill In the correct words from the box to give a suitable heading for A
and B. - E 12]

reptiles lizards amphibians mammals

2

- (Go on to the next page)



30  The diagram below shows the young and adult of some organisms.
Draw lines to match the young with the correct adult. I2]

(Go on to the next page)
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31  Devi studied the Iife cycle of Organism A as shown below.

Egg

L

(a) ‘Which group of animal does Organism A belong to? .
Give a reasen for your answer. 1

Organism A lays eggs which will hatch into larvae on rotten flesh.of.dead
animals. The larvae grow in size after some time.

(b) Why does Om;niaJnAbyiheggsmmﬁénﬂesh? 1

{Go on to the next page)
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32 The picture below shows a seedling.

(a) Identify the parts, A and B, of the seedling. ) 1
A:
B:

(b) Why s it important for the seedling to have Part A at this stage? 1]

(c) What will happen to the seedling if all of Part B are being removed?
Explain your answer. [1]

(Go on to the next page)
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33  Jalil observed the plants growing in a park. He classified the plants Group X
and Group Y as shown below.

Group Y P

(a) Based on the pictures above, state a difference between the stems of the
plants in Group X and Group Y. (Do not compare their sizes.) 1

(b) Based on the pictures above, write down one similar characteristic
between the plants in Group X and Group Y? 11

Jalil also observed that the leaves of some plants in the park are arranged in
avery special way shown in the diagram below.

(c) How does the arrangement of the leaves helps the plant to survive
better? - {1]

3
(Go on to the next page)
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34 The graph below shows the amount of digested and undigested food found in
mm&mammmmummwmmmd

the system.

The parts, A, B, C, D and E of the digestive system are not arranged in order.

Amount of digested food
and undigested food (units)

Key.

c

Parts of the digestive sysiem

Nmmbodypartsofthe digestive system represented by A, C, D and E. [2]

Letter Organs In the digestive system
—
B Gullet
C
D
E

(Go on o the next page)



8

35  Study the diagrams of the stomata and the different human systems in the
body as shown below.

C

(8) Which one of the systems, A, B, C or D in.the human system performs a
similar function as the stomata in the leaf? Name the system. [1]

(b) Explain the similarity in the function of both the stomata and the system
chosen in (a). (1]

(c) What could a person do when human systems C and D work together?

7

End of Booklet B1
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For questions 36 to 42, write your answers in the spaces provided. The number of
marks available is shown in brackets | ] at the end of each question or part question.

{17 marks]

36 Samy shines a torch on a wooden cone and a shadow Is formed on the screen,

—/
— A -
torch wooden cone |
Fill in the blanks with an appropriate answer.
{a) Ashadow is formed when light is by an object. i1l

(b) When the torch moves further away from the cone, the shadow
becomes . R i)

{c)  Draw the shadow of the cone that is formed on the screen. i

(Go on to the next page)
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37  Gopal set up the apparatus as shown below.

Shﬂyﬂnubwmdekdeﬁwomedmmbrqmﬂun(a)apd(h).

(a) The ‘mass’/ ‘volume’ of the orange is 1]
(b) ‘'greater than’/ ‘the same as’ / 'smaller than’ the apple. 1

(Go on to the next page)
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38  Mrs Lee conducted an experiment with three different types of strings of
similar length and thickness. She placed 50 g weights in a container held by
each shing (as shown below) undil it broke.

string
container B
50 g weights

Mrs Leeo’s results were recorded in the table below.

S

g

ng ~__Number of 50 g welghts added
7

11
3

(2 ml)

(a) What was Mrs Lee trying to find out? [1]

{b) Based on Mrs Lee’s results, which sfring should she use to make a fishing line?
Explain your answer. [1]

2

(Go on to the next page)
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38 Bala made an electromagnet using an iron nall as shown below. He placed
some paper clips near the electromagnet and recorded his observations in the
table below.

Number of Number of paper clips
colls attracted
8 1
11 . 15
14 19
17 23
{a) What could Bala conclude about the eleciromagnetic strength based on the

table above? [l

{(b) Balamagnetised two more nails by the method above and suspended each nail
by a string separately. The nails then came fo rest in the directions as shown .
below.

f,bﬁgﬁﬁ@

A magnet is then brought close to each nail as shown in the table below. Put
a tick () in the correct boxes to indicate the interaction between each nail

and the magnet. ' (1
Case Attracted Repelled
0] B
CT
{
{” N s ®:=>
C D

2

(Go on to the next page)



40 Nr Lee wanted to know-how much light passes through materials, A, B, C and
D. He set up the experiment as shown below.

forch ﬁﬂmmmdatabgger
material
The results were recorded in the graph below.

Amount of light (units)
A

A B C D Types of material
Mr Lee would like to make a tank for his-aguarium.

Which material, A, B, C or D, should Mr Lee choose to make his tank? Explain
your answer clearly, E [2]

2

(Go on to the next page)
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41 wwwawmam‘mmm.m&nkmmmm

a cork and held by a retort stand. She then gently heated the flask using a
Bunsen bumer.

Aftérmﬂme.asoundmnmdebymebel.
{a) What had caused the bell to sound? (1

{b) Explain your answer in (a). 1]

() If Lily had used a smaller flame, would the time taken for the bell to sound be
longer or shorter? Explain your answer. _ )

(Go on to the next page)



42 Ms Shah poured an equal amount of boiling waler into three identical
containers made of different materials, A, B and C, as shown below.

L
lllllll
......

- . 2

-------------- e )
ttttttt 3 i
A s s w_s

Material A B Material C

Ms Shah recorded the temperature of the water in each container at regular
intervals for 40 minutes. She then plotied her results in the graph as shown

below.
Temperature
(°C) 3
0 P =
_ Time (min)
(a) Why did the temperature of water in ali the three containers bacome 28°C
after 40 minutes? [1

(®)  Ms Shah would like to choose a suitable material for making a cocler bag to
keep her cold drinks cool for a longer period of time. Based on the results
given, which material, A, B or C, would be the most suitable for making the
cooler bag? Explain your answer. [2}

End of Bookiet B2
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29)A : reptile

30)

B afAmphﬁpians

31)a)ingects. The adult have six legs. All insects have 6 legs.

b)So that when the egg is hatched, the young would be able to feed on the
rotten flesh immediately. Allowing it to grow in size.

32)a)A : seed leaves

B : roots




32)b)The seedling’s first leaves are not fully develop. Part A, the seed leaves
provides the plant with food as the leaves are not fully develop. Without Part A,
the seed would die, as it needs food to survive.

c)The seed would die. The seedling needs water and mineral salt. Part B is
the roots. Removing the roots the seedling would not be able to have water
mineral slats as the roots absorb water. The seedling would be uprooted too.
The roots anchors the plant firmly to the ground.

33)a)Group X stems are strong and is able to support the plant upright to taken
in sunlight while Group Y has a weak stem and is not able to.sypport the plant.

b)Both of them are flowering plant.

c)The leaves are more widespread. This will help the leaves absorb
maximum sunlight to make food for the plant.

34)A --- small intestine
- B--- Gullet
C---stomach
D---large intestine
F-—-mouth
35)a)System A. Bes;?i'ratory"sVstem.

b)Both the stomata and the respiratory system helps to allow the plant and
body to take in oxygen and get rid of carbon dioxide allowing carbon dioxide to
be removed from the plant and body.

c)A person could kick a ball.
36)a)blocked

b)smaller

C;A . | N



37)a)mass
b)greater than
38)a)Mirs Lee was trying find out which A, B or C is the strongest.

b}A. fishing line must support the most weight of the fish and string B is the
strongest.

39)a)As the number of coils increased, the strength of then magnetic strength of
the electromagnet increases to attract more paper clips. :

b)i)Attracted ii)Repelled

40)B. B is transparent. It allows all light to pass through eﬁmpiéteiy compared to
A, Cand D. Hence, using D allow Mr Lee to see the fishas in'the aquarium most
clear compared to C, D and A.

41)a)The cork popped out of flask and hit the-bell.

b)The Bunsen burner heated the flask causing the air in the flask to gain heat
from the flask and expand. Some air then escaped into the surrounding heating
the bell ringing it.

cjLonger. The air in the glas3 wbﬁld_hke a longer time to gain heat from the
Bunsen burner and expaind.

42)a)The boiling water lose heat, to surrounding air and reached room
temperature 28C . ’

b)Material C. Ciis the poorest conductor of heat . compared to A , B as it the
boiling water in it lost heat to the surrounding. Hence when Mrs Shah puts her
drink into the material C, the drinks would gain heat from C the slowest
compared to A and B. Helping it to keep cool.
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